KIT SPECIFICO - SPECIFIC KIT
KIT SPECIFIQUE - SPEZIFISCHES SKIP
KIT ESPECIFICO

SUZUKI GSR750
2011

(B100KIT - 31 OOKI9

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

4 N\ C N\ C
= &
VITE TCEIl M6x20 VITE TCEI M6x30 RONDELLA @6 PARO:S\B- M6
X mm X mm mm

SUPPORTO SUPPORTO SCREW SCREW WASHER @émm BOLT M6
SUPPORT SUPPORT VIS VIS RONDELLE @6mm ECROU M6
HALTERUNG HALTERUNG SCHRAUBE SCHRAUBE SCHEIBE @6mm MUTTER Mé
SOPORTE SOPORTE TORNILLO TORNILLO ARANDELA @6mm TUERCA Mé
\_ QOTY nol J QOTY nOI J Q.TY n.2 J L Q.TY n.2 J L Q.TY n.4 J L Q.TY n|2 J

N/

9@@))))*

)

T --.—e:—@ —
"’///////\@1 P2 %..@ (5}

S

g L

4
5
R~

@

B

@18x17 foro 8.5 V420
SPACER

ENTRETOISE

DIST/

DISTANCIADOR

Q.TY n.2

——

MOUSSE PROTETTIVA
Z1195

PROTECTIVE RUBBER PADS
MOUSSE DE PROTECTION

SCHUTZGUMMI
ESPUMA ADHESIVA PROTECTORA

. Q.TY n.2 )

© Copyright 1606201 1ARRev00, 1/1 J




